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NOMBRE : CARRERA:
TIEMPO MAXIMO : 25 MINUTOS FECHA : Ju 30/03/23
1 6 4
Usando operaciones elementales, calcule A='si A=12 5 0
01 9
(60 puntos)
Solucidn:
(1 6 4 | 10 0 1 6 4 | 1 00
2 50| 010 ->hEDHR g 7 g | —2 1 0| >
0019 ] 00 o 1 9 | 0 01
(1 6 4 | 1 00 16 4 | 1 00
0o 1 9 | 0 01| -POHIg 1 9 | 0o 0 1| — B15Y
0 -7 -8 | -2 10 0035 | —2 17
(1 6 4 | 1 0 0
01 9 | 0 0 1 _y F3(=9)+ 1y Fy(—4)+F
0 0 1 | —2/55 1/55 7/55
(1 6 0 | 63/55 —4/55 —28/55]
0 1 0 | 18/55 —9/55 —8/55 | — F2(=0)+F
0 0 1 | —2/55 1/55 7/55
[1 0 0 | —45/55 50/55 20/55 |
0 1 0 | 18/55 —9/55 —8/55
0 0 1 | —2/55 1/55  7/55 |
Esto muestra que
45 50 20
[‘1855 559 558 X —45 50 20
-1 _ | | — L
A== 5 ~5% ~ 5| —m| 8 —9 -8 |:I
_2 1 e -2 1 7
55 55 55



